
Assignment-6

Lecturer: Wan-Lei Zhao

1. Please solve the following 0-1 programming problem by branch-bounding
method.

Max. 15x1 + 25x2 + 12x3 + 10x4

s. t.

{
3x1 + 6x2 + 5x3 + 5x4 ≤ 12
x1, x2, x3, x4 = 0 or 1

2. Please solve the following integer programming problem by cutting-
plane method.

Max. x1 + 2x2

s. t.


2x2 ≤ 7

x1 + x2 ≤ 7
2x1 ≤ 11
x1, x2 ≥ 0 & integer

3. Please solve the following integer programming problem by cutting-
plane method.

Max. 5x1 + 2x2

s. t.


2x1 + 2x2 ≤ 9
3x1 + x2 ≤ 11
x1, x2 ≥ 0 & integer
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